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EWWR0001 1w 0.1R-510R +5%()) 11.0£1.0 45405 27 0.65
EWWR0003 3W 0.1R-1K +5%(J)) 15.0+1.0 5.5+0.5 27 0.75
EWWRO0006 6W 0.1R-10K +5%()) +250ppm(T) 23.5+1.0 8.0+1.0 27 0.75
EWWR0008 8W 0.1R-20K +£5%(J) 31.5+1.0 9.0£1.0 27 0.75
EWWR0010 10W 0.1R-20K +5%(J)) 36.5+1.0 9.0£1.0 27 0.75
+
12 F———1+——1
SCIRTRE THEREEEK SERTSE 100 IS
[ipateey AR<+(1%R+0.050) 260°C, 10% | |
S 80 }
SRR IR AR<+(1%R+0.05Q) -55°C/+155°C, S)R{EHR s I :
N M o585 b———t ey~
RSITH AR<#(5%R+0.1Q) +40°C, RH93+3% , 1000 h @ 1 I S
1 .
40 }
EES AR<+(5%R+0.1Q) =8, SUE= 1000h = I I N
1 )
20
3| iR AR<+(1%R+0.050Q) 10N I N
1
SpoE=1 AR<%(1%R+0.050) 10fSEREINE, SB -35 0 2 70 155 275
WERE (°C)
BERIER

1#ERRM): EWWRO0008J1KOOT9 (EWWR 8W +5% 1000R +250ppm)

E[IW|[|W||R 0 0 0 8 J 1 K 0 0 T 9
’_I [ I [ T T
I I I I I
RS IhE BE FEME R (5E
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0003=3W 1R00=1R
0006=6W 10R0=10R
0008=8W 100R=100R
0010=10W 1K00=1000R
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20K0=20000R
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